(3)

1, MR Gl @ oy

(A) 21 =16

(B) 21&R

(€) 23 GTLAaa

(D) 22 e

'mmﬁn'mmq@

(A) 219

(B) 2197

(C) 23w

(D) 22 fedman
2. AT C-a3 HMID'{FIB-@;:TME@

A~e3 R 1 T C, D99 @M 27 | @iz Bq3 ¥
E-cq 9 72

) €%
(B) (AW
(C) ==
D
AYACH a= D wh By
E Y4l A ® 9 13fg C, D 7 fe

B 1E ® & T 972 .
(A) T \
(B) v fés
©wm N
o) e O
3. gFw 400 TIATER T g, e

FTE) 3201 ety e w2 | o Hew 9
e 2 2

JA) 20%
(B) 15%
(C) 30%
(D) 5%

QI A1 400 T el F Qe o 311
THaZ 320 9@ Fon e S 3 | Wl i
| WA (%) TV G2

| (A) 20%
(B) 15%
(C) 30%
(D) 25%

RB/CN(F)/2019

4. a7 i3 *%5fars TeEre 93 e

(A) 2A1FA

AB) @Afen

(C) s

(D) &z

TH 3713 W arqor 37 gfem foga?
(A) TIFE

(B) #aifim

(C) fae=n
(D) =g

Who wrote * Baskcrvillcs'?
(A) John K
(B)

6. 16 e 1R 13 93k Raneres 3z 92w
TR Tw 2

N8

(B) 11

©) 6

(D) 7

Ife F FF T AR 13 W 3 AR
3 MU | e T s w7

(A) 8

(B) 11

€) 6

(D) 7

Conan Doyle
nna Swell

O. Henry

7. SR Tl e om e e
(A) 687
(B) 8716
£) 10wz
(D) 6 =115

it ArEfyE feam 57 i Te?

(A) 6th 57

(B) 8th ==
(C) 10th fe&wrt
(D) 6th 3FTET
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(4)

1, b AR 7S € IS TR 36 @

8. Which one of the following words is S 7 IZWWW?
correctly spelt? ) 18 gﬁp‘
(A) Qu 5 cb
(B) 1 / \
(B) Quey © 24 )ﬁ’\ f//
(C) Qucue (D) 20 :
(D) Que Frateea LCM 31 HCF 36 3fy g
5 HCP36 5 6w
9. Erarey w6 BT W e BT @t afe g A 12 WO T F G
(A) wds B (A) 18
M) fafom ztemre (B) 15
(C) el 71 (€) 24 O
(D) *ma B (D) 2
o ﬁ:::ﬁ ™ e A %{e.lhe correct proverb.
(A) TEET e 4\*) Better fate comes never.
(B) fafi T=m Pe (B) Better late than ever.
(C) &9 Tl D (C) Better late then never.
(D) ¥ T (<\ (D) Better late than never,

10. Fill in the blank with 0 ‘adrd or
preposition. 5

Rahul is addicte \ gambling.
(A) to :
E

e

D

(

sin2A+cos2A="7
(A) 3
(B) 4

0 |

(D) 2

¢

12. Out of the alternative suggested, select the
one which best expresses the sentence in indirect
speech.

He asked me, “What arc you doing?”
(A) He asked about my activities.
(B) He asked me what I am doing.

AC) He asked me what I was doing,
(D) He asked me what | did,

15. w3 54 7R @5t @36 G 270 bR w1y
ore sz 3 30 GLaTs | Gl o Ty

7 A e 54 km/hour F T
270 A2t = @1 30 sec ®1 YR T Wa@ VA @H
TEEE TR i B2

(A) 150 fa=

(B) 100 frex

(C) 200 fa=x

(D) 180 figex

16. Out of the alternative suggested, select the
one which best expresses the sentence in indirect
speech,

The girl said, “I am very busy now"
(A) The girl told she is busy then.
SB) The girl said that she was very busy
then,

(C) The girl said that she is very busy iOW-

(D) The girl is busy now.
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(A) 150fBrm 49 &Y P
(B) 100 fio zy‘ﬁ/ A @
(C) 200 fo= oy
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(5)

17. Toen AT Hyepm CSio
m:’[ Qe (S IHWWQE?
(A) 30%a

(B) 58wy

JC) 6193

(D) 60T

EGRERIEC R v e
21 @i 7@ 18 = o= Wy

(A) 591h

(B) 58th

(C) 6l st

(D) 60 th

STTAN v i sifisn

18. Whichword means same a5 isticated™
(A) Funky etisicutar’y
(B) Brusque

(C) Gentle

(D) Genieel

19. UNICEF-£3 593

(A) =infa= TR ey
B) e
(C) v
(D) Frtepa
UNICEF =
(A) wnftg
B) =%
(C) &=

(D) fagm

20. P, Q-aa“(ﬂlw AT Fg R-<7 (U@ 79|
S, P~ (7% (15 g R~a7 (e cqt U, Qe
R (A% 78 P97 (0 791 | @ FAE G

4

%‘\\
)

(A) Q
(©) S
/D) R

P.Q URIANIT R ¥=1 &7e1 B, S, P W=
T4 8 W R W= 37eh B & U, Q w1 2 o
P H=1 S B | W YU A= w82

(A) Q

(B) P

(C) S

(D) R

S o3 Ml

RB/CN(F)12019

21. Choose the correct proverb.
(A) Emply vessels make most noise.
(B) Empty vessels make no noise.
(C) Empty vessels take out noise.
(D) Empty vessels make must noise.

22. fsa @l Y (e wEE(odd) ?
(A) ASIA
(B) AUSTRALIA
(C) AFRICA

AD) ALASKA

e faus £ =i
(A) ASIA
(B) AUSTRAIAA

(C) AFR e
) WA
high'word is opposite of “rogue™?
Rascal
(B) Crooked
(C) Serupulous
(D) Scoundrel

24. T Fafan frerem
A, 378 @l A T X

w2

O

23

\%o
(A 1200 "/
(B) 135° o
(©) 100° v
(D) 110°

A2 FA T FoEy (equal angle) isoscel
triangle 30° WU &= gen = 7

A En Cal (angle) +fd T=97

(B) 135°

(C) 100°

(D) L10°

25. Ao ‘ferm wens’ e @@ s
@RITE ¢

(A) 1151 1251

(B) 117 2= 1701

(C) 203G

D) 12751 (o= 1 B

Taem Sl ST R waen gige?
(A) nFRfE e

®) NaRfE = et

(C) 2&Rf@3as -

(D) 12 7@ | ==t
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26. A '8 B-&7 WIom SFHIE 3 : 4 | T W45 E
TEATE 2 - 3 | e 20001 R e, A € B-93

SRR
=260 %2
KA 600, 800 AN el
(B) 500700 Y =)
900, 1200 Nt 60
(C) 900, 12 Ang b o
(D) 300, 400 =4

3: 4 9| fofess @@ S 2: 3913l A TB
Wergel Rs. 200 TR 7490 T Feew! e s e?
(A) 600, 800
(B) 500, 700
(C) 900, 1200
(D) 300, 400

27. Sif@m amigEs faew gewm e
(A) ST
(B) ==<fm
(C) =Ffmfam

(o
ST

(D)

28. @l Bieaemm g A fig g fg
Feal a o wg | e e A 100 e
TR M1 290 | G FeefF B <4 o e

AA) 55 ) <29
JO — =
® 45 A ’4)\_’;;10
(©) 75 LY
@6 P

HE 290 NT | =% fafeamrn Ffeme s qu 92
(A) 55
(B) 45
(C) 75

(6)

<

Ly =
sn1°] :
A T B I 3HEHH (income) Z\T (ratio) »

P

(D) 65

29. T2 @w f5af® Currency, Rupee @3t
Dollar-43 4] 3o Z19/7 F0A 2

11""
?ﬂ'°

= (¢

feuat %9 f9=@1 Currency, Rupee 14

X8
o (o

30. Which one of the following words is
correctly spelt?

(A) Assasination
(B) Asacination
(C) Assatination

(D) Assassination (FrE

-
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(7)
31, 16/ (LT TG T 20 | e ¥ 4o A 35, TR A T ¢
2 m LUk S P ‘2'1?’,. \'L/
(A) 529u3 \,.,n.ﬂ ’ W
(B) 54T \4 }V/
© vz &R L
(D) 37 q&A
16 51 FETEER TET (Average) I 20 a4
oA 1 T TR S seff syt vf wfee
@ (Average) I 2 TR A v W @ HEA
FFa a?
(A) S2ad
(B) 54 2
(C) 14ad £
(D) 37 =4
32 72 Bushfire Crisis (19 Wb ?
(A) Denmark
(B) India
(C) Afghanistan '(\io‘casra G el 2019 A AR @
(D) Australia | ﬁ (IR 514 oA 2
@t %4 291 Bushfire Crisis WEF@‘ (A) 31
(A) Denmark -\Q (B) 5%
(B) India (C) ¥
(C) Afghanistan %& /(-D) '?;1{:21“’@1
(D) Australia & mﬁﬁ%ﬁ‘m 2019 ®! e w1
33, Which %@he following words is (A) wfe
correctly spelt? (B) 9=
(A) Renovation (C) [
(B) Reinnovasion (D) $fusifaa
(C) Rinovation 37. @ e fegem wet |fg 7m frgrem
(D) Renovetion CFITe F8 ¢ s ,)-»-
: A e
M. (G T A TR e Eg]) 3;—? \f’q’ .
AA) @ © 6
(B) =1 ffert Fpoima
(©) el W) 2 .
(D) TR " TEdequilateral triangle FIF9E g MUEH
oo e Tora SR ) T triangle 1 SR 1§97
(A) fofeen wrge (A) 243 o
(B) foreen yfers sneherer (B) 3 ol
(C) T (C) 6
(D) qEm=1 v (D) 5
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38. Fill in the blank with appropriate word or
preposition,

(8)

42, 20 faibra g @ BT freeet 10% %o apy,
Wﬁv&mwmmmww

Ostrich prefer running Mying. %A 25% 1
(B) against (B) 2 f75m
(D) of (D) 6 3
7 20 |trs T TZHH FAA0HT 10% T Dy
39, (|+})(1+ )(H- } ...... [|+ el ferat wrt wresr I fazor TETA percentage
§ 25% §27?
() d%2 52 (A) 4 ltrs
zb 2 Itrs
(B) 45 ’ (B) (Q
82 ‘% (©) 1@
© 39 (D)6 lors
(D) 44 ) Q ®
40. =i AR =Vt @ e é‘/ﬂ mmmﬁmw
(A) iz ((\ () NS
(8) oo (o (©) g
JC) CoPe . 0‘ D) G
(D) G }ﬂ g v 213 3 T 57
(A) (B) AMMeAvS
(B (C) AFE
(D) Ty
(D
41. aﬂwwmawe 44. 3T 12% 5= 7079 2@ TT WA <30
EBC TFG. OJK. ? )2 ffi@ sifanet wief o =22 &5
g %! A) 79EZ 63 A VL
(A) MTC s ( A
(B) UMN 4 " (B) 6453 95 +
C) D \ 00 ) (C) 87 65M 2y
(C) DPQ 11, )
(D) PSX ,2/,,1’ D) B=Za 434 . o
A TR YR s §2? S 12% simple interest ¥ fegma™m w@a
© ?
EBC, IFG, OJK, ? ‘/A > vy _rs'l'j v— ﬁﬁﬁﬁ Wﬁl'ﬂiﬁ Epbl fﬁl’{ (double) ET{!.
(A) MTC Y1 Ff't (A) 734 698
U C
(B) UMN E' U (B) 6ad9wm
(C) DPQ (C) 8 =4 6
(D) PSX (D) 8 74 4 AT e
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(9)
ol
15, ol i oS ‘FLOWER'€3 (016 3 9. gswcvrmﬁﬁ?%j?sww”z
OLDVI', T R 1S FMRIFV 63 cams | 19 15 fe e Bt S F0
; e (A) 1560 3
AB 1458 DI
(A) EUQINU (C) 1700 G
(B) ELQIEU (D) 1638 51
C) UNIQUE Ifz 25 w1 gFeE 4 @A Rs. 810 FAG
(D) TMGPTO 12 517 w2t 15 ﬁﬂﬁfﬁmwz A
) 9% MU “FLOWER' ¥74 *UOLDVI' (A) Rs. 1560 s w1
A ¥, T8 T FMRIFV' o % Sfa? )} k. ""(5]: ¢ A d &%
(A) EUQINU £ £ swl ST 975 A
- L oW (D) Rs. 1638 \ 5"’5“#?
(B) ELQIEU F « JL #
() UNIQUE 50. Google-c7 fow aﬁrﬁi@am'*ﬂ
(D) TMGPTO e )
(A) 5 07 0 K7
46. Choose the correct proverb. (B) e+ /
(A) Barking dogs seldom bite., (C) m +
(B) Barking dogs always bite. /R;
(€) Lurking dogs always cry. F) i UafRE (CEO)
(D) Barking dogs bite at night,
(A) e e

oY (@ (3R A0 T ww Ty

\\l:b

(B) *Ea
(D) 5539 ( ;(b
FafafrEe ( thenes) eras! ‘sz’

JO)
(Indica) 9= TEIe] T WRAIG Taaws g
T 87
(A) T<
(B) WrHE
(C) wrd
(D) S+

47. GenfET (Megasthenes) af5e 3 Q:‘:b‘
\

48. Which is the correct one for ““an afternoon
nap™?
(A) Doze
(B) Catnap
(C) Slumber
(D) Siesta

51

52.

(8 O

\ L2 %ﬁ

Chaose the correct proverb.,

(A) A stitch in time saves nine.
(B) A stitch in time saves fine.
(C) A stitch in time saves Jive.

HEREES
) =T
(D) = fy=d

(D) A stitch in time saves ten, ‘}x \?{-3
L _gpe S XA

R w16 30 & Fwee '

(A) “foa =B5r 6%

(B) 7 = = /,;ﬁ

(C) Tare! G “/-”"'

(D) A T

Tafaa wrr gor 9 Traw 57

(A) T sgrard "

(B) Wﬁwﬂ. A CAN A

(C) Faftan &&a=

(D) i qaETA™
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RB/CN(F)2019 (10)
53 R e wrw wm 40% fame e 57. Which onc of the following Words

T 300 277 v carrectly spelt?

AN 500 ),\) Independence
(B) 400 (B) Independance
(©) 200 (C) Indipandence
() 600 (D) Independense
T2 A Tz 40/ wrerafi afoom 300

T T Fa 7 w27 .
(A) 500
(B)Y 400 58, fa =3 (2R e el e
() 200 ) R - YIS
(D) 600 (B) WA - e
(C) G - EFl%
S4. Choase the correet proverh, (D) -9
(A) Ends well is all, fa m wgel 87
(B) All's well that ends well. (A
(C) The end is well. . AT
(D) Allis well that end in a well. ) FA-Tes
L.\, (D) TE-Jem .

55. A 93t B-97 a¥qW W@ R S5 Y
lﬂmmtﬂEWﬂmmﬂPfﬁq '3 4(
B-92 T&51% A 3w 7 @5

(g) 40. 25 59, SITAIE Z 9 A? P
) 24,3 =
(B) 24,31 2,9,28.7 551'}:‘%

(C) 32,23 fb'g\ ?,\, (A) 38 Lt

) 25,30 (B) 29 o
‘ \éémassaﬁg-—tmm 12) 65 o"‘;ﬁ-
>

Y FH (ratio) 4 : 3 o1 A T (D) 46
B # FOH w07 5{‘,70 o P TR <o 5

(A) 40, -H' ﬂ\ = < 2,9,28,?

(B) 24,31 4 (A) 38 or\ 7 g

(C) 32,23 (B) 29 <A * \,‘.,'L

4D) 25,30 2= s (C) 65 * .;'L"t"\'

50 1\ e 9% " ax
56. . <A, 31 @ e e )"/é“ 127

A) Tt 7 % 16

(B) FEmvm 45

(C) (ZA5E RS 60. ‘F‘ill in the blank with appropriale word or

(D) =Bl AFEA preposition.

fqouAo TE T AlFHI gaqmﬂm‘p cupof ::’: shall discuss the matter '
(A) TEfaErT arg .

(B) ¥ Bk jg; E::I'ure

(€) v S () with |
(D) Y=Y T (D) aver ? '

i
i

— J’ S ———— - L
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61, < 52 s o <

11‘ 'h ‘ 7‘&('ﬁq wtar ‘mu‘f \ﬂu are
£ { and bad’, &% cbdd"m”“‘ﬂ"
e 'Good T "and'a7 corz F 274y

(A) 5

}B)

€ 2

(D) 3

g;q HE M 2 5 6
ood’, 6 3 THAY ‘We au-ch::;a313’1!':i QY;“L.;
31 “Good and bad” 77 “and” 7 Fg ¥ g2

(A) S
oV "“"“%

(B) 8

(©) 2 ;5‘: vt
(D) 3 Ve \] W Nﬂ} /
c.'*'i’»éb 0

62. Fill in the blank Wik appropriate word or
preposition.

The man was accused

(1)

e ———————eee

RBICN(F)2019

65, ca e (Canal) 9 (Pacific) @ A0S

WEDI ST FO[E ATE !

AA) *IWnI 17

(B) x01E ¥

(C) Taa 75 &

(D) Bifem =

#A TeA (Canal) ¥ erarH (Pacific) 1
Seenfz wemarens ssa 87

(A) TrHm™ T8

(B) H{IS T8

(C) =4 7t T

(D) =i &

66. ufr 35 +43=40,21+€'Q<z5\+24-'!6

WA 1442 =
(A) I8
B 20

i thef, () Q
‘(g; ztr""“ \aﬁ 48 = 40, 23 + 34 = 24 M
259 = ?
(D) for &M ?Lml“u %A 5 VUV
2 \
63, e wiefEs wen 7, aﬁfi\} :3; = 7;;’ :;'1'%
TR e @) 16 ){ﬁ:
(A) TaZafe \
AB) @nsfazrs K X
(C) 7l 3§
(m 9[@%111 67. ISRO-7 GGaTaviTs & ¢ .,,.5’ X
nﬁmamaﬂga M) . frem 3
w (B) e Finx 2
EQLEE (C) dafex 5ol |
o D <o e
D) Eferm ISRO 9 =471 ) §7?
e (A) o favm
64, I ‘+-g9 = -, ‘teog wd 'k, (B) faw faz
eyl Yy g x-a7 w4, e (C) efwfas e
10x5+3-2+3=19 (D) To Fo werfa
(A) 16
(B) 5
(C) 21
(D) 18
oy W ad @, S e | g, o he o
|+|31ﬁ1x0$‘]31d.+v'mI0x5*3_’2+3=? 5"’ II 19"‘ 291‘@ ';‘l
(A) 16 213 (A) 2 )
AB) 5 553" (B) 1 \
© 21 (0% " }<.'l’3 (c; g v\L, |
= ,
(D) L 43 P
\0 ™ (-2 [Please Turn Over]
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69. Who wrote “The Strange Case of Dr. Jekyll
and Mr. Hyde™?
(A Howard Pyle
(1) Mk Twain
(C) Rabert Louis Stevenson
(D) Mary Shelly

70. Tk FEEDS =t vfEwe T
(A) 35%
(B) 0%
(C) 5%
(D) 0%

FETRAT TR ey wfa v
e’

(A) 35%
(B) 40%
(C) 45%
(D) 30%

71, =S
2

(;\; 7° :
AB) 0
() 11
(D) 9
wE fa=
4,2,
(A)

(B) 0
(C) 11
(D) 9

72. Out of the altemative suggested, select the
one which best expresses the sentence in indirect
speech.

Virat said. “Ravi arrived on Monday™
(A) Viratsaid that Raviarriveson Monday.
) Virat said that Ravi will wrive on
*Monday.
(C) Virat says that Ravi is arriving on
Monday. -
(D) Virat said that Ravi had arrived on

-

(12)

73, e i Fear fa) | oA TRy
24 767 | HEER WA FTY

AN) 16 wran =29

() 14

(C) 24

(D) 20

i o It =1 S (double)
I e 24 T g0 VA, GO S Efa

(A) 16
(B) 14
(€) 24
(D) 20

EARI
Tv?

74. =99 (3 iz qaltu' {miﬁﬂ?

(A) &

.‘.
'\\x) i
L WU ‘Pink Ball Test Cricket’ el Aferg®

:) ?

(A) =TER
(B) T34 M=
(C) fa=it
(D) 7 T

75. Which word is opposite of “plenty”?

(A) Insufficicnt
(B) Many

(C) Abundant
(D) Huge

76. 2019-<3 (% firsw =W AREw AT

ST TG ~TH P

(A) »d)

AB) 5§

(C) www

(D) el

2019 arfe) 31=T] GigEw Smers §HAE T
T T A (Cyclone) amaa fad?

(A) Wit

(B) ge1q«

(C) &7

Monday.

(D) faaeit
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77. Which word means same as “refurbish™?
(A) Destroy
(B) Construct
(C) Revamp
(D) Fabricale

78, W% IrE AL 1ol 7 R @ ovaneR
1< 1078 a5ff3 z7m =% 7802 Ay wwe
(A) 205 cifa

(B) 21 &ifiy
C) 16
(D) 18 =
A2 T e radii % 3= (difference)

7em HH SIREH SRR 1078 . o
TIEHR B radius w2 S

(A) 205em

(B) 21 em 7
(C) 16em

(D)

18 em

79. Which one of the following @\s\

correctly spelt?
( A;p;;csscgc \l\(b&\
\

#B) Message

(C) Mesa (as

(D) Masai%
80. TFM (odd) #mT fofEe @ |

AR) 98-

(B) 712~

(C) 120

(D) 108

faf3 (0dd) e fafea my

(A) 98

(B) 72
(C) 120

(13)

@ (D) Linux

(D) 108

RBICN(F)/2019

81. Fill in the blank with appropriate word or
preposition.
David lives the bus-stand.
(A) ngainst
(B) across
(C) through
(D) by

B2. wetE wiEmpea geraie Gipba 97

JA) 108 <<\
O

(B) Android
(C) Windows
aifer fam Fa?

(D) Linux

e (A

Qe
ndroid

) Windows

83. =1%, qrpe, e, el w2e e el s
A =R | e, B OfTC W | LA, AR e

| W TSR AT | AN A A | e
W& &= Ay

(A) ==, ez, 2mz, ftet, e

(B) A1g, sz, fursint, sz, irey

(C) Fre, amg, ez, Farem, sqraeet

(D) =z, T, T, rz0e, v

T, wew, fw, qu s i ok e
FHHR T 7T, Fem S =i 3 ) g, T
VI T $A | TR T DI TR ) A
T BT A0S G | R 9 e wE =
il §0?

(A) §rw, wew, T, T, fm

(B) U9, 7w, fem, qw, Wiy 0

(C) e, 7y, iw, fw, o

(D) e, i, &7, e, 7y
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84. Wash=SqRa-b=3 S ab="1

(A) 2
(8) 1
(C) 8
(D) 4
ﬂ‘ﬁa+b=53‘1’ﬁa—b=3ﬂ'ﬂ’f%ub=?
(A) 2
(B) 1
(C) 8
(D) 4

(1)

@(qx"f’ o

(C) KN

<
0
N
B

3

1 T¢C 3> B DN I1-D
AD W EF & FIJTKLM

Z Y ¥Ywv UTS Pjp-oN

U YV 2w 1d gy x5 17

b

4 [
b &b A M DE
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